7R ]

PR

9y Fi AfEpER

I NS 1 SO E S TE To 5 T

SE| O R

. 3
tan 30° 1.23 ?n V121 3.125 7 _o7? J128
el
o R
2. J PR LR 2 5.
L A 2+i
| 1 N e 185/ e SR
L 25007 PR B ) b 53 pony= 2
5
A FlE B
J 5 270
B. F,J?J I 5
C. plE 1% 1 o 2+
D. FLE 11 % 11l 4
D |
3. (“fi] V-80++-20x+/-16 « L4
A. 8i
B. —8i
C. 16i 6. 2-3i _
D. —16i 241
4, 3
] -1. -1
3i)* x| —i A -
@) :
A. 0 B. 1-8i
B. 3i C. 1-3i
C. -3i
D. 1——|
i 5
D. -




7. (a) (i) $IPEBUT B 0.84 [“RS5TH -
(i) #1055) B0 0.32 [~ 55
(b) [l FFET 0.84 + 032 fYfifi > I3 ErAT.

8. (&) (“I ™ F

(i) v-36++/-16
(ii) J-36+/-16
J-36+/-16

(b) (> FHET

s I a+ bi pURztAan o

2++/-36++/-16

0. TR k OB -

(@) (k—ki)+ (2—1i)—3ki fl— [Hdige

(0) (k—ki) + (2 =10 —3ki Rl [k



B
ot
1
. 3
tan 30° 1.23 ?n 121 3.125 7 _o7? J128
?Ji@( v v v
g | v v v v
2 C
3 A
4 B
5 B
6 D
. .. 28
7 (@) 0.84=2
. . 29
(i) 0.32 = %
o o . . _ ﬂ
(0)0.84 + 032 = 22
8  (a)(i) V=36 + V=16 = 10

(i) V=36V—16 = —10

o J-364/-16 _
2++-36++/-16
@ k=-2

(b) k==




